Solution Manual for Signals Systems and Transforms 5th Edition Phillips Parr Riskin 0133506479 9780133506471

Full link download:

Solution Manual: <u>https://testbankpack.com/p/solution-manual-for-signals-systems-and-transforms-5th-edition-phillips-parr-riskin-0133506479-9780133506471/</u>



0



@ 201 Pottmson Education, Inc., UpperSaddle River, NJ. AI rightsreserved. This publication ip retected by op Tight and written permission should be obtained from the publisher prior to any prohibited reproduction, storage in a retrieval system, or transmission in any form or by any means, electronie, mechanical, photoco — ;: — g — se. For information regarding permission(s), write to: Rights and Permissions Department, Pearson Education, Inc., Uppe — e — v N Sadsd. Pearson Education, Inc., Uppe 7.() 3 -3 -2 **z** 3 44 **5** Cf ¢ -30 $(2 \pm) = X h)$? =3 I - % t 3 2 3 (2c.) (+t) = z.Z @=+3€ -3 9 $\angle = 2 - \pm 3/2$











(iv) $y(t) = -4\chi(t) + 2$ \Rightarrow $Z=\pm$ -44)+2% 101 2... -2 8 0 2 ls -[f lo -2 2 10 0 A -2 9 3 6 -- < -(a





PROLE 23





Solution P2.4 (a) $g(\pm) - x(/+2, +4-)$ $= \frac{4}{2} + 2 = \frac{4}{2} + \frac{2}{2} + \frac{2}{2}$ (b) $\chi(t) = -\frac{1}{2}y(2t+4)+2 \Rightarrow \tau = -2t+4$ $\Rightarrow t = \frac{1}{2}\tau+2$ $y = -\frac{1}{2}y+2$ $y = -\frac{1}{2}y+2$

Problem 2. (a) ×e(t) - 12 [e+ × -V)] 2-) $x_{o}(t) = \frac{1}{2} [te - -0] (z.1?)$ ₹e) Zb) ¥e) _ lb t 0 /2 0.25 0 2) 5 73 0 3 а 1.25 1 **t**5 0 0 -O25 1,5 1.25 2 **3** -15 -ha -3 -0 (-3 0 0 D 1.54 +1/2 -3 -1/2 ż Jj $\chi_{olt} = \chi_{elt} = \chi_{lt} \%$ -3 3 veM£



0



roe a.% $() X() = ht \Rightarrow (-t) = 4t$ $= X(-t) = -(--t') /, \ '' -t'' o J d$ $\% e'' = z \sigma S$ @w=u) - Dis eden () $Z_{\xi} = 50 \times 55 \pm Z_{V} = 5Cs3(\phi)$ = 503 $\phi = 53t$ Xe () d-a(e+am = Ai(3[e+4J))(le) = -Cs&(st)(e) $\chi(t)$ (e= d(-t):. X) is euo vale) $-u(-t) \Rightarrow (-t) = (-t) - U(e)$ 0 +++-{ - [ts -ut-e] $1(e) = -\phi - t$: (e Ts 3dd (4(e) u(e-) + (-t-))L(-t) = -(-t-) + (t-v)a4(-t) = 5e), c () is Ad

ROBLEM 2.7

(a) $\int_{T}^{T} \chi_{0}(t) = \int_{T}^{0} \chi_{0}(t) dt \int_{0}^{T} \chi_{0}(t) dt ; \chi_{0}(t) = -\chi_{0}(-t)$ $\left. : \int_{T}^{0} \chi_{o}(t) dt = - \int_{T}^{0} \chi_{o}(-t) dt \right|_{t=T} = \int_{T}^{0} \chi_{o}(t) dT = - \int_{0}^{T} \chi_{o}(t) dT$ $\int_{-T}^{T} \chi_{o}tt) dt = 0$ $\int_{T}^{T} \chi_{o}tt) dt = \int_{-T}^{T} [\chi_{e}tt] + \chi_{o}tt] dt = \int_{-T}^{T} \chi_{e}tt) dt$ and Ax = line 1/ SxLt)dt = line 1/ Stalt)dT

(c) $x_{0}^{(0)=-x_{0}}(-0)=-x_{0}^{(0)}$. The only number with x = 0 so this implies $x_{0}^{(0)=0}$.

PR03UE 2.8

(a) Let z(t) be the sum of two even functions a(t) and a(t). To show that z(t) is even. We need to show that z(t) = z(-t) for all t. This is easy to show, since z(t) = r(t) + 9(t) and z(-t) = (-t) + (-t) (since to get z(-t) we just plug in -t everywhere for t. which amounts to just plugging in -t in $a_i(t)$ and g(t)). Now since r(t) and r(t) are even, by definition r(t) = a(-t) and r(t) = g(-t) so $r(t) + -(t) = a_i(-t) + 2(-t)$ so z(t) = z(-t).

(b) Let z(t) and g(t) be two odd functions. Then z(-t) + (-t) = -2(t) + (-9(t)) = (t) + (t) which shows that z(t) + (t) is odd.

(c) Let z(t) = x(t) + (t) as in part a, where now 1(-t) = x(t) and rs(-t) = -g(t). We need to show that $z(t) \neq z(-t)$, z(t) # -z(-t). Consider that z(-t) = (-t) + 2(-t) - (t) - (t). In order to have z(t) be even, we would therefore need to have (t) + (t) = (t) - (t) for all t. which is equivalent to having x(t) = -r(t) for all t, which is not possible for nonzero a(t). Similarly, in order to have z(t) be odd, we would need to have z(t) = -z(t) - x(t) - (t) = 9(t) - a;(t). which is not possible for nonzero x(t). So the sum of an even and odd function must be neither even nor odd.

(d) Let $z(t) = x(t) \cdot (t)$ where z(t) = r(-t) and x(t) = r(-t). Then z(-t) = x(-t)vs(-t) = x(t)vs(-t) = z(t) which shows that z(t) is even.

(e) Let $z(t) = z(t) \cdot (t)$. where z(t) = -z(-t) and -(t) = -r(-t). Clearly z(t) is even because $z(-t) = \alpha(-t) \cdot (-t) = (-(t))(-3(t)) = z(t) \cdot (t) = z(t)$. which is the definition of evenness.

(f) Let $r(t) = r(t) \cdot (t)$, where r(t) = -(-t) and r(t) = -(-t). Clearly z(t) is odd because $z(-t) = r(-t)(-t) = (-(t))(t) = r(t)r^{3}(t) = -(t)$, which is the definition of oddness.

2044 pearson Euaton inc., Upper saddle River, NJ. All rights reserved. This publication S potected by Copyright and written permission should be obtained from the publisher prior to any prohibited reproduction, storage in a retrieval system, or transmission in any form or by any means, electronic, mechanical, photocopying, recording, or likewise. For information regarding permission(s), write to: Rights and Permissions Department, Pearson Education, Inc., Upper Saddle River, NJ 07458. P2.% X(+) 2 not shown AXALI $\mathcal{R}_{0}(t) = \mathcal{K}(t) - \mathcal{K}(-t)$ $\chi_e = \chi(t) + \chi(-t)$ elt. MX(+) $\chi(t) = \chi_0(t) + \chi_e(t)$ 3 2 2 24

(a) $\sin(t) = \sin(t + n!n)$ for an integer *n*. so $7\sin(3t) = 7\sin(3t + n2) = 7\sin(3(t + n\#))$; herefore and fundamental frequency $\mathbf{n} = \#\mathbf{1} = 3$. r(t) is periodic with fundamental period T =(b) $\sin(8(t + 1) + 0) = \sin(8t + 2n + 30) = \sin(8/(+30))$. g = 8 and $Ti = \bullet = f$. (c) $e!' = \cos(t) + i\sin(t)$ is periodic with fundamental period 2m. so e!'' is periodic with fundamental period +; = n. and fundamental frequency $e_n = 2$. $T_1 = \frac{2T}{2} = T_1$, $T_2 = \frac{2T}{5} \Rightarrow \frac{T_1}{T_2} = \frac{T_1}{2T_1} = \frac{5}{2} \frac{hatio at}{integers}$ Ba=z To-RoTi: To = RTT(s), (periodic) (e) $e^{-i(10t + \pi 7_3)} = e^{-i\pi 7_3} e^{-i0t} = (cos\pi 7_3 - jsin \pi 7_3) e^{-i0t}$ = (0,5+ 10.866) e-210t To = 2TT = TTo (a); periodic (A) eaist edist elist + eszot are $\frac{20}{15} = \frac{4}{3}$ $\frac{1}{17} = \frac{3}{7}$ $\frac{1}{7} = \frac{1}{7}$ $\frac{1}{7} = \frac{1}{7}$ $\frac{1}{7} = \frac{1}{7}$ $\frac{1}{7} = \frac{1}{7}$ $\frac{1}{7} = \frac{1}{7}$ $T_1 = 2\pi T_2 = 2\pi T_2 = 1$ 4

P2,W Tre=a¢ ± z5t (b) X(+) = Cost + sin TH (c) x(+) = as 3t + sin 9t (d) \mathbf{v} (d) = $\mathbf{C}\mathbf{r} \pm \mathbf{+} \mathbf{A}\mathbf{4}\mathbf{n}\phi + \mathbf{Ca}(\mathbf{t})$ $e \in = Cart + ... & n4, dT \pm$ (£) & = 0%.(8u +so°)+ $@^{2t} a..(3u)$ 5»(Utu_ $(a_1 - 1 = 2\mathbf{I}, T_2 = 3\mathbf{I}, T_1 = 3\mathbf{I}, T_2 = 3\mathbf{I}, T_1 = 3\mathbf{I}, T_2 = 3\mathbf{I}, T_1 = 3\mathbf{I}, T_2 = 3\mathbf{I}$ 7%=3T = .1 : periodi (b) $\frac{1}{T_2} = \frac{1}{T_2} = \frac{1}{T_2} = 2\pi T$ not of integers (C) $T_{,=} = a_{2}, T_{2=2}, T_{T=\frac{9}{3}=\frac{3}{2}}, T_{1}=\frac{9}{3}=\frac{3}{2}, T_{1}=\frac{9}{3}=\frac{3}{2}, T_{1}=\frac{9}{3}=\frac{3}{2}, T_{1}=\frac{9}{2}$ $(d) T_1 = \frac{21T}{37T} = \frac{2}{3}, \frac{1}{5}$ $\frac{T_{1}}{T_{2}} = \frac{3}{V_{2}} = \frac{4}{3}, \quad \frac{T_{1}}{T_{3}} = \frac{2}{3} = \frac{10}{6T_{1}} = \frac{5}{3T_{1}} = \frac{10}{10} = \frac{5}{3T_{1}} = \frac{10}{10} = \frac{5}{3T_{1}} = \frac{10}{10} = \frac{5}{3T_{1}} = \frac{10}{10} = \frac{5}{10} = \frac{10}{10} = \frac{10}{10}$ ERIODIC (e) $T_1 = \frac{2\pi}{4\pi} = \frac{1}{2}, T_2 = \frac{2\pi}{8\pi} = \frac{1}{2}, T_3 = \frac{2\pi}{5\pi} = \frac{2}{5}$ Ti = V2 = 3) TI = 12/2 = 5/4 both ratios of integers lam of denomenators = 4×2=8=ko To = 8T, = 4-A, (f) $T_1 = 2T_3$, $T_2 = \frac{2T}{2}$, $T_3 = \frac{2T}{3T}$, $T_1 = \frac{2T_3}{243} = T_1$ not national periodic

3.12 $a = 5 \ge (\pm -00^{\circ}) + 202(7\pm)$ ¥()= 5 4.(t - 10) pi.vlc 1, =16nZl545 = 2 a.(7t)00,=7 4d/s $T_1 = \frac{2\pi}{15} = T_2 = \frac{2\pi}{7} = \frac{T_4}{7} = \frac{7}{12} \times \frac{1}{15} \times \frac{1}{15} = \frac{7}{15} \times \frac{1}{15} = \frac{1}{15} \times \frac{1}{1$ ko = 15 =7 TO = 15T1 = 2TT & () $d_{,(e=5 a.) = 5e'5t} > pad_ U=5$ b = 5e'5t > A?2cc T = 2, 7=37, T = 37, T = anK,= '473074,=% 2. do=5 7%=57=27 $\begin{cases} X_1(t) \text{ is periodic} & T_1 = \frac{2\pi}{\pi} = 2\\ \chi_2 \neq \text{ is periodic} & T_2 = \frac{2\pi}{3} \end{cases}$ TI = Z = B not vational .: Sum not T2 2T/3 TT not vational .: Sum not (d) $\sum_{n=-\infty}^{\infty} cos 4\pi t$ to periodic w/ $T_v = 2\pi/4\pi = 1/2$ (d) $\sum_{n=-\infty}^{\infty} rect \left(\frac{t+W_2}{0.2}\right)$ is periodic with $T_i = 0.5$ a 4 sin (5+++T/4) is periodic w/ Tz = 2TT = 14 5TT/2 :5 The = 1, The = 1/2 = 5/8 => Ro = 28, Th = 28TI = 14 2

 \bigcirc

PROBLEM 2.13

(a) For $a\setminus(t) \rightarrow t$ to be periodic we need some number T such that $\mathbf{r}; (\mathbf{t}+T) + \mathbf{r}(\mathbf{t}+T) = \mathbf{r}(\mathbf{t}) + 1g(t)$ for all t. This can only be true if $1 + 1(\mathbf{t}+T) = 1 + i(t)$ and 1 + 2(t+T) = 3 + 2(t), which can only be true if $T = k_1 T_1$ and T = kT (T is an integer multiple of both the periods). So we need there to be some integers \mathbf{k} and A'2 such that $\mathbf{k} \mathbf{T} = -2T^2 - \mathbf{k} = 1/2$.

(b) Put # in its most reduced firm '{ by canceling any common terms in the numerator and denominator; then Ti = nT = mT,

Problem 2.14

(a) >> syms t >> xa=5exp(-t/2); >> ezplot(xa), grid

(c) >> symS t >> xc=5exp(t/2); >> ezplot(xo),grid

(e) >> syms t >> xe=5 (1-exp(-2t)); >> ezplot(xe), grid

(g) >> syms t >> xg=5exp(-20)2sin(2t); >> ezplot(xg),grid b)
>> syms t
>> xb=5exp(-2t);
>> ezplot(xb),grid

(d) >> syms t >> xd=5 (1-exp(-t/2)); >> ezplot(xd), grid

(f) >> syms t >> xf=52sin(2t); >> ezplot(xf),grid

(h) >> syms t >> xh=5exp(-0.5t)2sin(2); >> ezplot(xh),grid

Problem 2.15
(a)

$$cos(0+e) = Re[e[1] = Re[e[e]e]] = Re[(cose + j sin0)(cose + j sine)) = Re[(cose + j sin0)(cose + j sine)) = Re[(cose + j sin0)(cose + j sine)) = Re[(cose + j sin0)(cose + j sin0)(c$$

ľ

Problem 2.1.6 . (continued) (d) $vb) = # ee(me) + 54-@T_{\pm})$ = 4 RV+C + LC+ S =(-3\$\e⁴, (+40) e38% $(2-3/2) = (r_{Fhr}) = \frac{n}{-n}$ =534 $-5e^{-40\%}e^{#\pm}se^{20.4}e^{-j4n\phi}e^{+se}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j4n\phi}e^{-j$ $= 5 \quad \theta^{jefl \sim -0-hc,j} + g^{2...'j\cdot('\cdot 1 \cdot rTt - 0, b'/.,)}$ (0) = 5 Ca(& - 04 ad)(C) X(t) 0 /5 0Ga (1002-1303 72) (Wot) = A e twot e twot Betwot e 1wot = A-JB Cowot + A+JB Cowot = $\sqrt{\frac{A^2 + B^2}{4}} \left[\frac{T_{com}}{A} e^{\frac{T_{com}}{A}} + \sqrt{\frac{A^2 + B^2}{2}} \left[\frac{T_{com}}{T_{com}} \left(\frac{B}{A} \right) e^{\frac{1}{2} \omega_0 t} \right]$ $= \sqrt{\Lambda^2 + B^2} e^{\frac{1}{A^2 + B^2}} e^{\frac{1}{A$ $z = \tan^{-1}\left(\frac{B}{A}\right) = -\tan^{-1}\left(\frac{-B}{A}\right)$ $^{\circ} \cdot \chi(t) = \sqrt{A^{2}+B^{2}} \cdot C_{0}^{1}(wot - t_{0} - B_{M}) - J(wot - t_{0} - B_{M}) + C_{0}^{1}(wot - t_{0} - B_{M})$ = \A2+B2 Cos (Wot - Tan (B/A))



$$PROBEM R.19$$
(a) Let $T = at, then \int S(at) dt = \int S(t) dt$

$$= \frac{1}{a} \int S(t) dt \Rightarrow S(at) = \frac{1}{a} S(t), a > 0$$
for $a < 0$, $at = T \Rightarrow -1a$, $t = C$

$$\Rightarrow dt = -\frac{dT}{1a1}$$

$$\therefore \int S(at) dt = \int S(t) - \frac{dT}{1a1} = \frac{1}{a1} \int S(t) dT$$

$$\therefore S(at) = -\frac{1}{a1} d(t) \text{ for the general case.}$$

$$I \qquad (b) \int \frac{t}{b} \int S(t) d\sigma = \begin{cases} 1, t > 0 \\ 0, t < 0 \end{cases}$$

$$= u(t)$$

$$\therefore \int S(t - t_0) = \begin{cases} 1, t > t_0 \\ 0, t < 0 \end{cases}$$

Recall the rules about integrating delta functions: (t) is nonzero only at t = 0. so r(t)(t) = r(0)(t). and $f_{t,x} & \neq dt = 1$, $f_{t,x} rtt)6(t)dt = \int_{-\infty}^{\infty} \alpha(0)(t) dt = \alpha(0) \pounds_{t,x} d(t) \pounds = r(0)$. We can time-shit $\mathbf{b} \mathbf{C}$ delta function: (t - to) is nonzero only at t = to. so (t)6(t - to) = (to)6(t-to) and $f_{t,x}$ (t)6(t - to)dt = (to).

9) $\mathbb{C}\cos(20)8(0)t = \cos(2\cdot 0)\hat{E}(t)r = 1.$

ii) (t - I) is a time-shifted version of (t), and is nonzero on l^* at t = b So:

$$\int_{-\mathbf{a}}^{\infty} \sin(2t) \mathbf{J}(t - \frac{1}{2}) dt = \int_{-\mathbf{a}}^{\infty} \frac{\sin(2t) \mathbf{J}(t - \mathbf{J}) dt}{\mathbf{A} + \frac{1}{4}} = \sin(2t) \mathbf{J}(t - \mathbf{J}) dt$$

2.19 (c) (iii) [.=abs-oa $j + (\% - W_e - en[a - 1e])$ =0&%¢ $(v) \int Sm(t-T_{6}) S(2t-2T_{3}) dt = \int Sin(t-T_{6}) S[2(t-T_{3})] dt$ $= \int dm (T_3 - T_6) S[2(t - T_3)] dt = \frac{1}{2} dm (T_6) = 0.25$





(2t-4) = 4(2t-2)(2t-2) - (2t-4)u(2t-4) - u(2t-6) - (2t-8)u(2t-8) - (2t-9)(2t-9) = 4(2t-2)u(t-1) - (2t-4)(t-2) - u(t-3) - (2t-8)(t-4) - (2t-9)(t-4.5)





© 2014 Pearson Education, Inc., Upper Saddle River, NJ. All rights reserved. This publication is protected by Copyright and written permission should be obtained from the publisher prior to any prohibited reproduction, storage in a retrieval system, or

transmission in any form or by any means, electronic, mechanical, photocopying, recording, or likewise. For information regarding permission(s), write to: Rights and Permissions Department, Pearson Education, Inc., Upper Saddle River, NJ 07458.



PROBLEM 2.25

 (α)





@ 2014 Pearon Education, Inc., Upper SaddleRiver, NJ. Alrights reserved. This publication is protected by Copyright and writen permission should be obtained from the publisher prior to any prohibited reproduction, storage in a retrieval system, or transmission in any form or by any means, electronic, mechanical, photocopying, recording, or likewise. For information regarding permission(s), write to: Rights and Permissions Department, Pearson

Educ lnc., Upper Saddle River, NJ 07458 $cf_{Ct:}$ $-ds_{t?}$ $lnpu-f: - {t} u b-e.V - p$ $(d\phi)$ **SSU** is **m** is em 16 ble. @ (meta}Cannot %e de-rah 2rn knosdge tPu.6-Eu Ut 't-o, 0..{: ~ulp C ...- Oi" II 'ff - lil CZ b au-______ z4 21 4< sd?sf s%a boate (du-) -#-cSlf~k~s ~e-)n v. t1 ICV/ 7% s,jslbhi liea. (a) 7the system is [aasalit 9le2)4z. On, wes down the tro = &, gag. 7e+ cally $t/1 - \% \Rightarrow <>1$. e. n&cla (b) @ 3 = (t) = (\mathbf{O}) () Te as% is not vio'rlible (i@) the SS is at (i") the set (i") the is at (i") the (i") the set (i") the set (i") the is at (i") the is (i") the is at (i") the is at (i") the is at (i") the

7roller 2,32 **C** %) = 2**u**+1) - ue) - **u**(**t**-t) =**z2fake**+ - **ul** + [le-~(±-l) = 2 (±+) + \neq (**t**) • $\pm le$) = 2g(+6 - +

•
$$z = 4 - z - i = 1$$



2014 Pearson Education, Inc., Upper Saddle River, NJ. All rights reserved. This publication is protected by Copyright and written permission should be obtained from the publisher prior to any prohibited reproduction, storage in a retrieval system, or transmission in any form or by any means, electronic, mechanical, photocopying, recording, or likewise. For information regarding permission(s), write to: Rights and Permissions Department, Pearson Education, Inc., Upper Saddle River, NJ 07458.

eesls ass y Li?) 1-be $x \to Tl$, hialibk ' = y = 1x) F tz) icoal (iw) sable (w) his inaiu.nk (w) +1,1 + miH, () «.ww44ghu4 $(g^2 \pm 2, \mathbf{Z} in...le)$ $t \sim$) cesa} (r) she ble u) his int $g]_{hr}$, nit Z(WV) / L (Q) (~) evro Zess: g() detewinel by @vent vaowt. ot Dertihl = 6 = Fox all 1 > 12. (2) asal g able:[a]<t. (U) bimne Inv~viant., O ob Inecv> gt)= 4 a/ules e)<-1. ()t) ve«cv9(ess (L?) 2live(ble t)=9+, al(e)>2 (U) Casa) s%le: @40\4 (U) t'ne invariant (v) ob linear) = 4, at((3)>2